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For it is written, ‘and he captured from him a captive’

OVERVIEW

The X3 states that we know that an ™5y can acquire a PX 2" as a slave (7p1m12)
from the P05 of "2w 1nn 2w™. Our NMBOIN explains the necessity of the various
7% regarding P (of wh2°d).

nooIN asks:
— NP2 19NV AN PNNIYT XN XNOWD T NN 9NN ON)

And if you will say; now that we know that an 2"™>¥ can acquire a 2R W* with 7P

(from "2w 117 2w™), why is it necessary to derive from 177993 19770 2R 1Y that

an 0"2Y can acquire an 2"2Y through npin, for -
— 19V U5 NY £%2915 T21¥Y D295 T2y 2P HNIY? D295 T2IY NNWAN

Now since we know that an 2'"12p acquires a 2w, is it not obvious that an
2'"ow acquires another 2'"19¥ (the 1"p which the X113 just mentioned)?!

MooIN answers:
—197°07 JNOYNT IND ON 11’)? DIV 119399 19299 NN N 22 131099 AWMNIT 9910 YU

And one can say; that from the P09 of saw wunn 2w, we would not have

derived from it any 7P I, unless we found that o2 R XM MY,
indicating that p1r *3p are possible through w12, only then can we derive from 2w an 2wm

that an ™3y can acquire a X% through w12°3 npin.
— 1YY TN RY NPIND 22Y 191910 AWNNIT YWIPY WITN DYDY '0N) *59n9

And therefore the X723 cited previously the teaching of %', because from 2w
2w 11%» alone we would not have known that an ™53y can acquire (anyone) —

Mmoo questions the efficacy of the last proof (from >"9):
99 1P NYT JIIINYNY MINRY TPIONN 171999
However it is possible to say that it was necessary to cite "9, in order to inform

' We would have thought that the 7710 is merely relating that they took a captive, but not to teach us 7P *11p by
0°72Y since there is no precedent for it. (See aw" 1"7 "7 who seemingly disagrees with n1poN).

2 See *"xon that regarding the w12°3 of 1m0 the (V2,82 [NpR] 727M2) 7109 uses the term nN°awa 11y, the same word
2w which we find here, indicating that here too there was a 11p just as there was by 1r°0

3 mpon offers an additional proof that from >2w 117 2w alone we cannot derive that an 2™3¥ can be 1P (a PRW°);
for if we can derive from 2w 13an 2w (alone) that an 2"19Y can be 711P a PX7w" then there is no need for the Aw17 of
5"1 regarding an 0"2y acquiring an "2y (with 703), for if an 2">¥ can acquire a %W (which we derive from 2w
2w 11nn), then certainly an 0"3¥ can acquire an 2"12¥. See ‘Thinking it over’.
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us that an 2"10¥ cannot acquire the n3 of another 2™">v (or oxw).?

SUMMARY
Once we know that an 2"10¥ can be 7112 another 2"12y with P12, only then can we
derive from "2w 1 2w that an 2"5Y can be 71 a YR with p1m.

THINKING IT OVER

mooIn (initially) explained that it was necessary to cite "1 because we cannot
derive anything from 1 2w".” However moon had just stated that once we derive
from P02 1TV AR PAY that 2™5Y can be 7132 an P2 0"oY, then we derive
from 2w A1 2w that an 2">5Y can be 1P a YR, so the question remains why
was it necessary to cite 9" when it would have been sufficient to merely cite 1y
"3 axm) and "3 2wn?!°

* Even if we were to assume that we can derive from 2w n 2w that an 2™2Y can acquire a 98>, it was still
necessary to cite 2" (not to teach us that an 2"y is 71 an 2"y [for that we can derive w"a»2a from 1mn 2w], but
rather) to teach us that an 2"15¥ cannot acquire the 713 of his 72y.

> See footnote # 3.

® See [T1xA] X"wan and 7N # 162.

2

TosfosInEnglish.com



